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DFTK-S-MTH

A 27 = |z+ 7|, T z=x+iy, i= J-1,A
2 %1 feagua 2 ¢

(a) ¥ T@ISA H gH

(b) EHRMIE Afqwaerd & IW

(c) EwEl 1 IH

(d I H W

A 1+ 8 +5 4+ T+ ..+ 199 F 24 F
famfsa foman e, &t Srvwer =/ &R 2

(@ 3

b 6

@ 7

@ 9

J12+5i + J12-5i

i=J-17
&
(a) 24 §Q§
b) 25 &
$Q
(¢ 542 N
@ 5(v2 -1

1

Ife A= H,a‘r det(I + AA") T WH F1 &, &l
3

1, 3 x 3 %1 deaH T8 & ?
@ 15
(b) 6
(¢ 0

d -1

7.

(2-A)

afk A, B3 CHR 3F i s 3
det(BC) = 2 det(A), @l det(2A~1BC) &1 W &1

??

(a) 16
(b) 8
() 4
d 2

2n+5 _3’ ?ﬁ’ﬁﬁ’?

qﬁmmaﬂnﬁqﬁ 7
W 140 Ta1 1 1% 1 8 ?

(a) 2840

(b, 2780

(c) 2920

(d) 5700

a ifie A HIfE 3 *1 v fawmwmia g
21

det(4A*) — det(3A%) + det(2A?) — det(A) + det(- I)
F WH 1 8 T&l 1 HfE 3 FH dcadh YR

22

(a) -1

B 0
) 1
dy 2
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1. Ifzz=|z+ z|,wherez=x+iy,i= -1,
then the locus of z is a pairof :
(a) straight lines
(b)  rectangular hyperbolas
(¢) parabolas
(d) circles
2. If 1! + 8! + 5! + 7! + ... + 199! is divided by 24,
what is the remainder ?
@) . 3
(b) 6
(c) 7
(d 9
3. What is the value of J12—+51 + m,
wherei= -1 ? ®
&§S)
(a) 24 §
¥
(b) 25 NG
Q
© 542 @
@ 5(vJ2 -1
1
4. If A=|2|, then what is the value of
3
det(I + AA’), where I is the 3 x 3 identity
matrix ?
(a) 15
(b) 6
(¢ 0
(d -1
DFTK-S-MTH

(3-A)

If A, B and C are square matrices of order 3
and det(BC) =2 det(A), then what is the
value of det(2A~1BC) ?

(a) 16
(b) 8
(c) 4
d 2

+5

If the n*® term 6f a sequence is 2 , then

what is the simof its first 140 terms ?

(a) /2840
(by 2780
(¢) 2920
(d) 5700

Let A be a skew-symmetric matrix of order 3.

What is the value of

det(4A%) — det(3A3%) + det(2A2) — det(A) + det(=I)

where I is the identity matrix of order 3 ?

(a) =1
(b) 0
() 1
d 2
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S 1
8. ﬂﬁA:[—S 0 5},a’rﬁﬂfé~ﬁamﬁ
e SO
T Y H9-01 TH TE R 2
(a) A? U% THG IR B, det(A?)=0 &
oy |
(b) A U% HAMG TIR B, det(A2) 20 #*
o1y |
(c) A?u% fawn-gufia amegg R, det(A?) = 0
& |y |
(d A? & fowm-smfia megg 2, det(A2) = 0
& 91y |
2 0 0
9. 3R A=|0 3 0|, @t F=fafas ==l o @
00 4
B TE B 2
1. foreft off seTenes ot n % fom, AR w2m
EHAYI BT |
2. ferdt oft uTews QUi n % Ry, AnwRa
u faeol s € | S\\
3. fodt it g Q’%%Q,A"Héa
U g |
= fau T e #= T gENgELAMT
(a) had 131 2
(b) had 2 3N 3
() had 131 3
d 1,23R3
10. afZ (a+b), 2b, (b+c) HPH &, at F=fefaa
o § -4 UF TE B 2
(a) a,baﬂtc,APﬁﬁ
(b) a—b,b—ci’vﬂIc—a,APﬁ'g
(¢0 ab3Wc GPHE
(d a-b,b-c3c—a GPHE
DFTK-S-MTH

11.

12.

13.

14.

(4-A)

1
aH ST ¢, t, tg .. GPH & | (¢t ... t,)11

fopmes st 2 2

(@) ty9

b t2
() tg

2

@

fefafes & & #qa 0% - 21 1 Figw
??

(a) 1+
(b) %
(c) 1,/4;
(d) :/%i

10 gl & wioesg faget A fiekan wem
feeet 2 2
(a) 45
(b) 60
(© 90

(d 120

U G SH (2n + 1) 37999 & | S F 4096
IJy=a & o ude § S-S
n39Td & | n s aue ? 2

(a) 5
(b) 6
) 7
(d 8
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8o TEA =3 0 5 |, then which one of the
-4 -5 0
following statements is correct ?
(a) A? is symmetric matrix with det(A2) = 0.
(b)  A? is symmetric matrix with det(A2) 0.
(c). A? is skew-symmetric matrix with
det(A?) = 0.
(d) A? is skew-symmetric matrix with
det(A?) # 0.
2 00
9. IfA=|0 3 0, then which of the following
0 0 4
statements are correct ?
1. A" will always be singular for any
positive infeger n.
2. A" will always be a diagonal matrix for
any positive integer n.
3. A" will always be a symrq@?mah’ix
for any positive integer Q§'
Select the correct answer \% the code given
below : &Q
$
(a) 1and2only
(b) 2and 3only
(¢) 1and3only
(d 1,2and3
10. If (a +b), 2b, (b + ¢) are in HP, then which
one of the following is correct ?
(a) a,bandcarein AP
(b) a-b,b-cand c-aarein AP
(c) a,bandcarein GP
(d a-b,b-candec-aarein GP
DFTK-S-MTH (5-

0 3 4

11.

12.

13.

14.

A)

(a)

1
Let ty, ty, t ... be in GP. What is(t,t, ... t,,)11

equal to ?
(@) ty
®) e
() t3
@ A

Which one of the following is a square root of
-J-17?

1+1i

1-i

V2

IT+1i

2
5.

b

V2

(b)

(c)

d

What is the maximum number of points of

intersection of 10 circles ?

(a) 45
(b) 60
(¢) 90
(d) 120

A set S contains (2n + 1) elements. There are
4096 subsets of S which contain at most n

elements. What is n equal to ?

(a)

(c)

5
(b) 6
v
(d 8
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x2+8x x-1 x+3 1 0. 0
15. AR | x+1 -2x x-4 18. ﬂﬁA:{O 1 0],&23A3_19A2-4A%a%
x-3 x+4 3x 0 0 1
T 2 ?

=ax? +bx% +cx® +dx + e,

(a) IfE 3 YT AR
(b) e 3T AEHS Y

W eH HHFTE ?

(a) -1 2 B
2 00
(b) 0 (c) 02 0
0 0 2]
(e): .1 ' 5
T:10:20
d 2 @ o7 0
10 0 7]

16. 3Ife Hife 3% us anfires & ot 1999 131 -1

P p PR 19. Ffd P FYE A F GRfUE FH AE 3R |

7fe O\ A % HE @Sl 1 ATE 2, ql

() Fa9 0 C2% QRIS 1 0 91 8 2
(b) U W TG W AG¥IH &Y
. g\\@qﬁ (a) 3
(¢) U fowm we &Z, Bb) 9
N
(@ 0,131 -1 $Q () 81
N
(d 729
2 -1~0
17. AR A=|-1 30|, @ detladj(adjA)] _|k-1 k
1 0 20. 2 Ay k-2 k+1’?h

0 F M8 ? det(A,) + det(Ag) + det(Ag) + ... + det(A;pp)
foras TUe B 2

(a) 5 -
(a) 100

b)) 25
(b) 1000

(e) 125
(c) 9900

i (d 10000

DFTK-S-MTH (6-A)
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x24+8%x x-1 x+3
15. If| x+1 -2x x-4 18.
o3 owpd 3%
=ax? +bx® +cx? +dx + e,
then what is the value of e ?
@) =1
(b} .0
(ot |
(d) 2
16. If all elements of a third order determinant
are equal to 1 or —1, then the value of the|19.
determinant is :
(a) Oonly
(b) an even number but not neceg& 0
(¢) an odd number @
Q‘b-
A
(d 0,1or-1 &Q
$
2 =il
3T HA=|-1 3 0], then what is the value | 9.
1 0 1
of det[adj(adjA)] ?
(a) &
(b)y 25
(e) 125
(d) 625
DFTK-S-MTH (7-A)

1
IfA=|0 , then what is
0

o = O
- o O

23A3 — 19A2 — 4A equal to ?

(a) Null matrix of order 3

(b) Identity matrix of order 3

2504
(c) 0 2
00 2

=]

e =0
(d) 0 790
007

The valué of the determinant of a matrix A of
ordet 3 is 3. If C is the matrix of cofactors of
the matrix A, then what is the value of

determinant of C2 ?

(a) 3

(b) 9

(e) 81

(d) 729

If Ay = B::; klj_l}then what is
det(A;) + det(Ay) + det(Ag) + ... + det(Ayg0)
equal to ?

(a) 100

(b) 1000

(e) 9900

(d) 10000
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21.

DFTK-S-MTH

FTATE TR A x AT 16 3aFa ¥ e (0, 2) 3k
1, 3 & | F=fafgs s # & SRR
T@RA 2

1. U=g AS 90 A A R )

2. AxA¥ 3799 (3,2)R |
= R M 2 w1 v = ad I g

(a) a9 1
*Had 2
13 221

(b)
(c)

@ Fa1,3¢2

e e A=(1,23,.

., 20). AR AR HEY R

_ wmqﬂmﬁatﬁn i(x, y]@ 3y=1),

ﬁnﬁ«f@@“mﬁﬁa.

-
FRFVARD TR A
N

X, ye A

S

1. R¥ WA (1, &7, 10, 13,16) 21
2. RHIWH (1,59, 18 17 % |

3. R TH R % F&Wd & SO & |

2 e e e F W@ = wd I g
(a) Fad 1
*Had 2

13k 2

(b)
(c)

@ 233

(8-

23. Freferaa FoEt W Reaw $if -

3 B
1. fix)= -{"' 0Sx<2 ooy ot way
4x, 2<x<8

f 0% BT B |

0<x<4 oy i way

4<x<8

2
2 X)i= H
8 {311,

g UF B B |

IR HoEl § § BAEVREA T R 2
(a) Fad1

(b) Fad 2
@ 18 2 et

() T 1,78 2

24, Fafafgs su=t w fomm Hifsw

1. A=(AUB)U(A-B)
2. AuB-A=(AuUB)

8. B=(AUB)-(A-B)
S wo § Y B

(a) ae 13 2
(b) aet 23 3
Fact 130K 3
1,23 3

(c)

(d)

A)
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21. The Cartesian product A x A has 16 elements
among which are (0, 2) and (1, 3). Which of the

following statements isfalfeI correct ?
1.  Itis possible to determine set A.
2 A x A contains the t;lement (3, 2). _

Select the correct answer using the code given

below : AT

(a) 1only “ R R
(b) 2only

(¢) Both1land2 ¢

(d) Neither 1 nor 2

Let A = (1, 2, 3, ..., 20}. Define a relation R

22'
fromAtoAbyR = {(x,y):4x — &{\& where
X, y € A. Which of the fou@ statements|’
is/are correct ? \Q(G
&Q
OV 2N
1.  The domain of Rds {1, 4,7, 10, 13, 16).
2.  The range of R is {1, 5, 9, 13, 17).
3.  The range of R is.equal to codomain of R.
Select the correct answer using the @e given
below :
(a) 1only
(b) 2 only
(c) land2
(d 2and3
DFTK-S-MTH (98-

23. Consider the following statements : - ...

1. “The reldtion fdéfined by
3
flx) = {x :

4x,

2 = :
GEx=2 is a function.

2. The relation g defined by

: 2
x) = X,
& {3x,

Dz is'a function.
4<x<8

Which of the statements given above is/are

correct ?

(a) 1only

(b) . "2lonly

(e) %, Both 1 and 2

%) Neither 1 fior 2

.-

Consider the following statements ; .

24.
1. A=§AIUBI)U{A—B)
2. AU(B.—A)=(AUB)__ .,
. B =(A UB)— (A - ,B) Y
Which -of the.statements given above are
correct ?
(a) 1and2only
(b) 2 and 3 only
(¢) 1and 3 only
(d 1,2and3
A) 8 (S
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25. Th e ﬂx~y}=% H TEL A 8,
y
&l fly) 0.3 (1) = 0-5, A
f(2) + f{3) + f4) + f(5) + f16) Torss ST 2 2
15
(a) 3—2
17
(b) =
29
(C) a
31
W
29.
26. 2 cot[— cos™ ! ‘/35] forees sUet 2 2
(ay -1
(b) 1 §‘S\\Q’®
@ 3++5 &2’
QO
N
@ 38-+5 N\
N
30.
27. ARE sec lp — coseé lq= 0, 5&l p > 0, q > 0; Al
pl4qlH AR TR ?
(a 1
b) 2
1
(C} —2-
1
d ——
22
DFTK-S-MTH (10-A)

28. 1+ sin? {ws—l[—%n foperh SaT 2 2

(a)
(b)
() —

(d)

Ife tan (n cos @) = cot (n sin ), 0 < O < %;Tﬁ

83in2{9+g]wmﬂw%?

(a) N6
(b)Y 2
(c) 1
1
d =
(d) 5

Ife tan o = %, sin f§ = %;0«:{1,&: g,?ﬁ'
cos (ot + 2B) T W FT 8 ?

(a) —%

(b) —-J%

(c) %

@ %
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25. A  function satisfies fix—y) = %,
y
where fly)#0. If f{1)=0'5 then what is
fl2) + f(3) + fl4) + fi5) + f(6) equal to ?
(a) =
32
@y =l
32
(c) 29
64
W 2
64
29.
26. Whatis 2 cot[% cos™! —?] equal to ?
(a) -1
(b 1
&
¢ 3++5 @
O
@ 3-45 N
S
30.
27. If sec !p — cosec ¥q =.0)where p > 0, q > 0;
then what is the valueof p™2 + g2 ?
(@ .1
) 2
1
St
(c 5
. 1
d —
2v2
DFTK-S-MTH Gl =)

: : 3
28. Whatis 1+ sin? cos“l(—] equal to ?
[ V17 ®

(a)

(b)

(c)

(d)

Iftan(ncosﬂ}=cot(nsinBJ,0<B<%;then
what is thevalueoszinz[9+EJ?
(a7 \16
(b 2
©)X

1
7§ e
(d) 2

b ! 1 T
Iftana= =, sinf=-—;0<a, B< -,
7 P J10 P<3

then what is the value of cos (o + 2B) ?

1
(a) -=
G -

1
b)) -—

J2

1
0 —

V2

1
d =

2
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ST ST AT 3 (02) WeAT & fore FAmfeiee o
ﬁ'ﬂﬂﬁﬁ?:

FHEHT (1 - x)* + (5 - x)* = 82 W fa=m Fifvre |

31. wHfieor & greafas geil i G = # 2

(a) O
(b) 2
() 4

(d)

T & |t gl B IR =T R 2

8
32.

(a) 24

(b) 12

(e) 10

&
Ny
an#an#m#aﬁ#(os)w@'%vﬁw%aw

fareme &iforo -
'HTﬂT(UT-I:z3+2z2+2z+1=O 3R
2190 4 1=0 R fo=r $ifSm |

(d 6

GHRTU-I] ; 21985 4

33. w1 gt o & 2

2

(a) 1o o

-1, o, 2

(b)

(c) o

1,-w,o

2

d -1l,-0-o

DFTK-S-MTH (12

34. F=fafes @ & #Fw w gfwonn 1 q@

22
(@) =1

(b)

-

2

(c) -w

(d)

w

85. WHEHULI 3R wHiHW-IL % T qel it FE

foreft 2 2
(a 0
(b, 1
w2

d 3

ST AT AT 3 (02) YA & fore e @
ﬁ?ﬂﬁl{:

T fgama g, a+b)x2 —(a+b+c)x+k=0
g fear man R, S&f a, b, c Ay § |

36. AR k= %,(c;em,a’tmﬂa?tm%qg%:

qrfas 3 quH
Tredfas I s

areafas afg 3R Faet 9 a>c
afiyy, W aredfas T8

(a)
(b)
(c)

(d)

~A)
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Consider the following for the next two (02)
items that follow :

Consider the equation (1 — x)* + (5 — x)* = 82.

31. What is the number of real roots of the
equation ?
(a) O
b 2
(c) 4
(d 8
32. What is the sum of all the roots of the
equation ?
(a) 24
(b) 12
(¢ 10 5\\Q
>
(d 6 D
N

Consider the fouowin@r the next.three (03)
items that follow :

Consider equation-I : z3°%+'22 ¥ 2z + 1 = 0 and

equation-II : 21985 4 710031 2o,

33. What are the roots of equation-I ?

2

(a) o0
b -1,0,0
© 1,-o0,0
@ -1,-0,-0?
DFTK-S-MTH (13-

34. Which one of the following is a root of

equation-II ?

(a) =1

(b)

-

(c) 2

-

(d)

w

35. What is the number ©f common roots of

equation-I and equation-1I.?

(a) 0
(b) 1
(5, Q)
(d)~3

Consider the following for the next two (02)

items that follow :

A quadratic equation is given by

(a+h)x2—(a+b+c)x+k=0,wherea,b,care

real.

36. Ifk= % , (¢ # 0), then the roots of the equation

are :

(a) Real and equal

(b) Real and unequal

(¢) Realiffa>c

(d) Complex but not real
A)
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87. IR k =c, a geftetor & 9w ¥

(@ a+c b
a+b a+b
a+c b
B ok T a+bh
(¢ 13 s
a+b
() RSO, [ - (e,
a+b

AT HTH FTE 77 (03) WA & ferg Reaferfea @
ﬁ?ﬁ"ﬁﬂl’:

IEESIIE L

(14%)° =1+T;x+Tox2 + Tgx3 + ... + T,x"

X .

88. T, +2T, + 3Ty +... + nT, Torae FTR 2 ?
(a 0
(b) 1
I
© 2 \\QQ
@ n2o-l &%
O
891, 1.~ Dy 205 — 3T »@ (-1)2aTy, fheeh
T 2 ? P
(a) 0
by —grt
(¢) n2"!
@ 1
40, Ty +Ty+Ty+..+T, forash suewd >
(a) 2
® 2°-1
@ -
d 2%%1
DFTK-S-MTH (14-

AT TR FIE 3 (02) WV & forw Refefas av
ﬁmaﬁﬁm
A ST f(x) =x2 -1 3R gofix) =x - vVx + 1.

frafafaa 4 @ Fw @ gx) F o durfaa
EECE

Vx+1 - ¥x+1

Vx+1 - ¥x+1 +1

Vx+1 + ¥x+1

x+1-Jxal\1l

41.

(a)
(b)
(¢)

(d)

42. g(15) fpus aga 2 2

(a) 1

(b), 2
(c) 3

d 4

AT T a3 (02) WA & forw Refernas av
ﬁ?ﬂ%’l{:

e ofifee th weR f, R-(0) W gfonfya @ 3k
2ﬂ_x}+f(1] =x+8

x
43. f0-5) fros aU=R B 2

(a)

(b)

LW b=

e) 1

d 2

A)
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37. [Ifk =c, then the roots of the equation are :
W e
{b) ::; _a+b
(e) landajb
(d) -1and-aib

Consider the following for the next three (03)
items that follow :
Let (1 +%)" =1+ Tyx + Tox2 + Tgx® + ... + T, x".

38. Whatis T; + 2Ty + 3T3 + ... + nT,, equal to ?

(a) O

(b) 1

fe) 2% .&
(d n2°-1 g\\g

S

39. Whatis 1-T, + 2T, _@ ¥ ... + AD™NT,
equal to ? @
(a) O
(b) -2°-1
(6) n2*?t
d 1
40. Whatis T, + Ty + T3 + ... + T, equal to ?
(a) 2"
(b) 2"-1
@ 281
d 2"+1
DFTK-S-MTH (15—

Consider the following for the next two (02)
items that follow :

Let fix)=x% -1 and gofix)=x— Jx + 1.

41. Which one of the following is a possible

expression for g(x) ?

(@ Vx+1-4¥x+1

(b) x+1 - ¥x+1 +1

© Jx+1 + ¥x+1

d x+1-Jx+1+1
42. What is g(15)equal to ?

() X

(b) 2

© 3

d 4

Consider the following for the next two (02)

items that follow :

Let a function f be defined on R-{0} and

2f(x) + f[l] AT
X

43. What is f{0-5) equal to ?
1
( 3
a) 2
2
b =
3
(e) 1
(d 2
A)
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ERELY aush ret W 2y yie RTUEA LS Lo 8 3 L i
44, AR £ IEHEH B, A £(05) [5EF TER R 2 | T S A Y (02) vt & fore A w
1 feram #ifsro
1 1 T ax?+y? =0
(b) % 47. y 1 AN A TR ?
3
(CJ 2 (ﬂ) §
@ 4 (b) 3
(c) 4
T T AT gt (02) WA & forg Aeferem w| @ 6 ‘
faramy #iforo: ey |48, xy 1 rfrmaw o =R 2
x+1 2 3 (@) _9_
T BeH fix) = | 2 x+4 IR 4
3 6 x+9 3
b) —
2 2
(c) %
45. I8 FoF SO 8
2
d =
(a)l —%,O]T{ : ® 3
i ' -S\\Q:‘ et s are 1 (02) Wl % forw Ao o
(b) 0,%8- w ,§) fram #ifore:
: &Q\Q TS B fix) = 7 + sin? x GRT IR 2 |
50 QM
© [0=[W S
[ 3 49. 39 % B TER FT 8 ?
@ [0, %_ w @ [0,1]
(b) [m,m+1]
46. ¥ B TAMHE JAAH T YT HAT 2 © Mm-1,mn+1]
@ Mm-1,z-1]
(a) x=—'—2-'§-‘T{-
8 50. 39 G P SEdHS 1L ?
Gy ==L (a) 2n
) xX=0W (b) m
28 (c) %
@ x=2W
g (d) 98 B IFAEd B
DFTK-S-MTH (16-A)
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44, If f is differentiable, then what is f'(0-5) equal Consider the following for the next two (02)
items that follow :

to ?
Given that 4x% +y%2 =9,

(a) 2

4 47. What is the maximum value of y ?

2 3
(b) 3 (a) 5
() 2 (b) 3
@ 4 il

d 6

Consider the following for the next two (02) 48. Whiat is tlis maimum wolae M xy ?

items that follow : 9
(@) -
4
A function is defined by 3
b)) =
x+1 2 3 2
fx)=|" 2 X+4 6 4
3 6 x+9 AN
@ 2
45. The function is decreasing on : 3
@ |[-28 0} s(\QQ Consider the following for the next two (02)
S Q,§’ items that follow :
b) [ 0 28] \Q@ A function is defined by fx) = 7 + sin® x.
i Q
2 = @ 49. What is the range of the function ?
50
g @ [0,1]
- f : (b) [mn+1]
@ |08
L @ (¢ [m-1,mn+1]

(d) : [k+1l.n-1]

(a) 28 50. What is the period of the function ?
a) X=-—
8 (a) 2n
(b) x=-1 (b) m
28 g
(d x=—= ' LR v
3 ] (d) The function is non-periodic
DFTK-S-MTH (17-A)
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N SR aret 3 (02) Tl ¥ forw Rt @
framr #iforo:

TH TEAE (1, 2) § B AT 8 3R 3HFher FHIH

% =W x>0,y>0 P ETEF@ER |
X

(c)

(d)

X=

00| =

3 Waed & AMYed (2" @en) 6 d€ R =
22

52.

a 1

1
o s

2
o \\Q@
c) - %

’ ¥
@2 NS

8 QO

s A AT 3 (02) s@’%ﬁ?ﬁwﬁﬁﬁw
faremy #ifsro:

TH e fix) =

ax—l & bx—l

3 3'3'(g(x)=x-

f(x)-1
i g(x)
In(ab)

4

In(ab)
2

53. forees Iua 2 2

x—1

(a)

(b)

(¢) In(ab)

(d) 2In(ab)

DFTK-S-MTH

(18-

1 i
lim f(x)8%) fous swat g ?

x—1

(a) +ab

(b) ab

(¢) 2ab
Jab

2

AT 1A FTE 3 (02) WA & ferg FAeferfaa av
ﬁwaﬁ@m

A ST fix) = 2-x + 2+x.

39 %o &1 Tid FLE 2
(a) (-2,2)

b [-2,2]

() RE€9.2)

(d) WRR[=2, 2]

54.

(d)

55.

56. 39 B F1 Afrhay o =1 R 2
i

V6

B

4

(a)
(b)
(c)
(d)

AT ST A 3 (02) T & fore Ao v
ﬁ?ﬁ'ﬁﬁ?:

M T fix) = x| 3N gx) = [x] - 1, F& [] FETH
quifeh el ® |
flgx))
qH T h
e gf(x)
57.  lim h(x) fepaes s 2 2
X—U+
(@) =2
' TR |
(e)i 0
@ 1
A)
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Consider the following for the next two (02)
items that follow :

A parabola passes through (1, 2) and satisfies the
dy . 2y

X

differential equation x>0,y>0.

51. What is the directrix of the parabola ?
(a) e o
.
b = —
(b) ¥ 5
1
(c) =— =
) R 3
1
(d) = —
PLg
52. What is the length of latus rectum of the
parabola ?
(a) 1
1
b £,
ot S
L Q
() " S\\
S
@ L N
; &

Consider the following “jor the next two (02)

items that follow :
x-1 x-1
Let flx)= 2 ;b and.g(x)=x- 1.
55, What it 12 = 1 o ?
x—1 g(x)
In (ab)
(a) 1
In (ab)
b
(b) 5
(¢) In(ab)
(d) 2In(ab)
DFTK-S-MTH

1

54. Whatis lim £(x)8%) equal to ?
(a) +ab
(b) ab
(¢) 2ab

Consider the following for the next two (02)
items that follow :

Let fix) = ,/2—x + 1/2+x.

55. What is the domain of'the function ?
(a) (=2,2)
(b) [-2,2]
(c) \R=(2/2)
d)y R->[-2,2]
56... What is the greatest value of the function ?
(a) 3
b 6
© 8
d 4

Consider the following for the next two (02)
items that follow :

Let fix) = |x| and g(x) = [x] — 1, where [] is the
greatest integer function.

f(g(x
Let h(x) = g((ﬁx;;'
57. Whatis xl_i:& h(x) equal to ?
(a) -2
(b) -1
(e~
d 1

(19-A)
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58. lim h(x) forgs sua 2 2

x—0-
(a) -2
b -1
() 0

d 2

ST T AT 3T (02) YA & forv e @t
Wﬁﬁ(’:

x—3
' I1{_3|+al, x<3
A T fix)= { a—b: x =3 3
Xx—-3
Ix_3|+b, x>3
fix) Gad BHT 98T x = 37 |
59. aHIIH FT 2 ? \\QQ
S
@y =1 Q}%
O
® 1 QN
N
fe) 2
@d '8
60. bW HF TR ?
(a) -1
@ 1
¢y ‘2
d 3
DFTK-S-MTH (20

o s AT 7 (02) T & Py Bt
ﬁ?ﬂ'm:

2n

o i 1= I sin

-2n
T
0

(a)

X+0034X

1+8*

4
dx

61. (sin*x + cos* x) dx ToFrereh sTre 2 ¢

(b)
(c)
(d)

1 fopues soen B 2

0

62.
(a)

(b)

(c)

(d)

AT AT a3 (02) TV & fow At ur
ﬁ?ﬂ'ﬁﬁ?:

3n

R ﬂx}:{ax{x+1}+b’ ]
x—-1, 1<x<2
63. I HTH fix), x = 1 W aFT 8, a (a+b)
HIHE T 8 2
(a) _l
3
[+ W |
(e) 0
d 1
_A}
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58. What is x1irf1J1 h(x) equal to ? Consider the following for the next two (02)
nL
items that follow :
@ -2 Yat T= T sin4x+cos4xdx
1+3%
(b) -1 -2n
(¢) 0 .
61. What is I (sinx + cos*x) dx equal to ?
(d 2 0
(a) %
Consider the following for the next two (02)
3n
items that follow : &) 5
x—8 (c) o
+a; x<38 2
|x -3
Letfix)= { a—b; x=3 and CUNR-.
Ix—glw; %58 62. Whatis\d equal to ?
x —
f(x) be continuous at x = 3. (a), 0
& ) %75
59. What is the value of a ? \\Q
§ 3
Q) {C) —2—'
(a) -1 cb§
N
Q (d) 3n
® 1 @
Consider the following for the next two (02)
() 2 items that follow :
ax (x+1)+b x<1
d) 3 = ’
(d) Let f(x) { ey o
60. What is the value of b ? 63. If the function f(x) is differentiable at x = 1,
then what is the value of (a + b ) ?
(a) -1
(a) - %
b 1
b -1
2
(c) © 0
@ 3 (d 1
DFTK-S-MTH (21-A)
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64. lim f(x) fras st 8 2
x—0

65.

66.

67.

: |
(a) e §

2
By T
(b) 3
{e). "0
(@) 1

I fix) = |In|x|| & 0 < x < 1, @ £(05)
fermess st 2 2

(a) -2
(b) -1
€) 0O
D 2

If% £(x) = cos (In x) 3R y = f(zx_3),fﬁ dy
X dx
fopereh SR 2 2
s\\Q

s 2x-3
(a) cos( [ = ]J §

&
g5 %Sm[;n(k@@
. 4 X

i

(B ::os,(:n[Q’é ]J

x2 X

3 2% -8
— —5 cos [ln{ D
X X

8n
J. |sin x|dx Terereh sTeT 2 2
0

.&

(d)

(a) 2
(b) 4
(0 8
(d) 16
DFTK-S-MTH

68.

69.

70.

(22-A)

xe [-1, 1] F T, &% fix) = x|x| @ x-79 §

foR & &1 el w1 B 2
(a) %
(b) %
(c) %
(d) %

30 \2 4
aqammﬁmx‘?(ﬂ] +(§x—y] +sinx =0

e
6 ife 3 g shuT = § 2
(of 8%
(b)” 1,4
(&) 2.2
4y 3,2

y2 = 4a (x — b) YR & Gt Waeidl 1 Fahel
YR 2T B ?

o e e
2 2
® L .2(8) .o

2 2
(c) ygd_y+[dy] =0

2 2
(d) yd—): +(§—J =0
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What is i o
o s ’1‘1_1;% fx) equayfe t 68. What is the area between the curve
(a) L 2 fix) =x|x| and x-axis forx e [-1, 1] ?
3
2
2 (a) =
b) -— 3
(b) 3
1
¢y 0 (b) 3
d) 1
(©) lli
65. Ifflx) = |In|x|| where 0 < x < 1, then what is
£/(0'5) equal to ? @ %
(a) -2
(b) -1 69. What are the (order and the degree
(¢ 0 respectively of the differential equation
2
3 4
@ 2 xz[:x%] + (%J +8inx=07?
, 2x -3
66. If f'(x) = cos(ln x) and y = f| , then
(a) =8, 4
what is dy equal to ?
dx . Q (b) 1,4
2x -3 \Q
l
(a) cos[ n( s ]J g\ © 2.2
S
® - %m[m(%@ @ 3,2
x
S
@, 2 ms[;n[zx —3]] 70. What is the differential equation of all
X X
parabolas of the type y2 = 4a (x — b) ?
3 2x .3
(d - —5 cos in 5 42 412
X ; . y y
(a) et — | =0
A dx? 5 [dx)
8n
. . d2 d 2
67. Whatis |sinx|dx equal to? &) = ...xz(_l) =0
dx? dx
0
d2y d 2
(a) 2 (c) i [__-Y.] =0
R
(b) 4
d%y (dy ]2
(d) —_— - =0
(e) 8 de2 + dx
(d 16
DFTK-S-MTH (23-A)
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T AT a3 (02) YA F forv FAeferaa uv
ﬁ?’?%‘q&

o A a, ay, 85... 39 THLAPH 2 f6

al ¥ 3.5 ¥+ alo + 315 + 3.20 + 325 ;3 330 + 334 = 300.

71. a; + 3.5 - aw -— 315 - 8.20 - 325 + 3.30 + 334

fores st 2 2

(a) O

(b) 25

(c) 126

(d) 250

34
72. z a_ fored s 2 2

n=1

(a) 900

(b) 1025

(€ 1200 &

N\

(d) 1275 §Z§
HTT T qIA 3T (02) TV RefeEa o
foree #fore: @
M i p= cos(%]cos[%] 37T

q= CDS(E)COS(B—T‘].
5 5

73. p+qHIUH FT & ?
1
(a) e E
1
B e
(b) 1
e O
1
.
(d) 5
DFTK-S-MTH (24 -

74. pqHI U F B ?
1
(a) ==
% 16
1
i s
; 4
@ =
4
1
e
(d) 16

3T 3T a1 (02) ¥ & fere el uv
ﬁwaﬁﬁm
a T p =

tan 3x
tanx

1
3

g=1M-3tan?x, O<x<m, x* =

75,

76. x%ﬁﬁﬁuﬁ%m%sﬁﬁm%?
(a) Toreht W o fore =&
(b) had UH HH * fow
(c) a3 AHl & fag
(d) e fiH wHT & forg
A)
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Consider the following for the next two (02)
items that follow :

Let a;, ay, ag ... be in AP such that

ay +ag + a9 + a5 + ay( + ag5 + agq + agy4 = 300.

71. Whatis
8y + a5 — a9 — 815 — Agg — Ags + Agg + Agy
equal to ?
(a 0
b) 25
(c) 125
(d) 250
34
72. Whatis :E: a_ equal to?
n=1
(a) 900
(b) 1025
\@’\*\
(c) 1200 §
™
(d 12756 Q(b'

S
Consider the foﬂowin@m the next two (02)
items that follow :

n 2n 47 8n
Le = —_ _ — —_— —_.
tp cos[5]cos[5]andq ms(5]c05[5]

73. What is the value of p + q ?
1
(a) --=
g
(b) - .
4
e 9
1
qy -
(d) 2
DFTK-S-MTH

74. What is the value of pq ?
(a) "i%
® -5
(c) %
(@ i%

Consider the following-for the next two (02)
items that follow :

q=1-31’.aam2 x,0<x<mx# g

75. . What is pq equal to ?
(a). ‘1
(b)

(c)

wlow N

d -

oo | oo

For how many values of x does = become
P

76.

zero ?
(a) No value
(b)  Only one value

Only two values

Only three values

(25-A)
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T AT AT 7 (02) WAT & fore Rt ue| 8.
faramre #iforo:
Wﬁ?ﬁﬁft{sinx+siny=\/§(cosy—cosx};
x+y=E D<x «:E
s Lieire
7. sin3x+sin3y$lqﬂ7ﬂT'3?
@ =1
b) 0 82.
) 1
d 3
78. cos3x+c053y?ﬂqﬁwa?
(a) §£
8
(b) 36
8
83.
(e) E[ﬁ
4
d 1
N
T T aTAH 3T (02) ToTt & g
fareme #ifso:
wﬁaamcﬁaﬁwAB@m 3. 5:4%
I  # |
79. a+b+J§cTﬂWﬁﬂﬁiﬂTﬁl%? ¥
{nY.. .34
(b) 2b
(¢) 3b
(d 2¢
80. a2:b?:c? fhm U@ H & 2
(@) 2:2++3:8
) 28~ y3 0D
(€ 2:2+4J3:2
d 2:2-+3:3
DFTK-S-MTH (26-A)

Waed y? = dbx 1 Far &1 @fieo w=n R,

& b<03M b2+b-2=02

(@ x+1=0

b x-2=0

© x-1=0

@ x+2=0

&g (—a,-b), (0,0), (a,b) 3R (a2, ab):

(a) UH & g9 W feva 7

(b) T & & ofd-fag R

(© UH TR Fgua o & ot 7 R, &
¥fidfag &

d wWE#

feaqrmar '@ 75 16p% + 492 - 412 - 56pq = 0.
frfafaa & & #F-91 &, @« W@iel & 3|
(px+qy+r)(px+qy—r)=0‘ﬂfﬁl’ﬂﬁ§%?

7
9 -
(a) [,2]

(b) [2, a 3]

2
. EEn
@ @7

I g9 x% + y2 - 25 = 0 I TH a1 #
e 3x + y - 5 = 0 B, At Sfta1 % Aeafag &
e =1 B 2

(a) {E, 1)
4 4

(b) (3, 1]
22
3 1

(C) (E,—Z]
2 2
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Consider the following for the next two (02)
items that follow :

Let sinx + siny = Jg(cosy — COSX); X +y = %

0<x,y<=.
<xX,y< z
77. What is a value of sin 3x + sin 3y ?
(a) -1
(B)_ . 0
Kol
(d 3
78. What is a value of cos® x +cos® y ?
3J3
(a) T
® 36
8
3J6
(c) T
() 1
&
Consider the following for t xt twe (02)

items that follow : Q(b'
The angles A, B and C of a\@ngle ABC are in the
ratio3:5: 4.

79. What is the value of a+b+ v2 ¢ equal to ?
(a) 3a
(b) 2b
(¢) 3b
(d 2c
80. What is the ratio of a : b : ¢2 ?
(a) 2:2+ 43 :3
) 2:2-43:2
() 2:2+ 43 :2
@ 2:2-43:3
DFTK-S-MTH (27 -

81. What is the equation of directrix of parabola

= 4bx, where b < 0 an +b-2=07
y? = 4bx, where b db%2+b-2=07

(a) x+1=0
(b) x-2=0
() x-1=0
d x+2=0
82. The points (- a, — b), (0, 0), (a, b) and (a2, ab)
are :
(a) lying on the same circle
(b) vertices of a square
(¢) vertices of a/parallelogram that is not a
square
(d) collinear
83. Given that 16p% + 49q% — 4r? - 56pq = 0.
Which one of the following is a point on a pair
of straight lines (px + qy + 1) (px + qy — 1) =
i
(a) [2, E]

7
b 2, ——
® (2-7)

(e (4,-7)
d 4,7
84, If 3x + y — 5 = 0 is the equation of a chord of
the circle x2 + y2 — 25 = 0, then what are the
coordinates of the mid-point of the chord ?
3 1
(a) (Z’ Z)
3 1
b .
® (33
g 1
(c) [Z, = Z]
3"
(d) [—2—, - ~2~]
A)
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85.

DFTK-S-MTH

x2 y2

24 @ k-16

Frafafaa w faan #ife .

1. € g fega # Fefia @ & 9l
k=19

2. ¥z gl fawaey #1 fefia wwr
Ife k = 12.

3. W& wHiww gu i FEfa www ? Il
k = 20,

Y4 w4 & fope @@l & 2
(a) 94 TH

(b) HaA

(c) @t

(@ g oft 7

=2 % ®Hed #H

&
@?% Hed

Pt cos20  sin2
fr=fafea wut w

L aﬁﬁweﬁgﬁa%t

2. Icshgdl sec 0%

3. M BIHH & drg hl glt 2318 R |
394 Hul § 9 forad wdt € 2

(a) Had TH

(b) e 3l

(¢) &M

(d 3 ft 7E

87. T 4x? + 4y® —dax - day + a2 =0 % e |

89,

(28-A)

frafafiga womi w fmm it

1. ¥8 g9 QM1 &t w9y e g |

2. THIAH AW 2ad |

3. TEIARPE W x+y=aTW @R |
I HoET W frad md # 0

(a) HaA TH

(b) IS QI

(c) @ft =

(@ i3 off 7

k% T w3 e

k-3)x—(5-k*)y+kZ-Tk +6 =0,
%@Tx+y=1%€'ﬂ1‘ﬂ'{%?

(@A) Al 1
QN 1,2
©© 1,-2
d 2,-2

Wix+y=4, P(-1,1) 3R Q5, 7) F ST
areft @1 H R W Hedl 8 | PR : RQ fha®
U B 2

{ay "~ 1:1
(B . =2
(e 2l
(@) 1438

U UH @1 % Id@el w1 AThe 71 2 e
fdngefag @ o gt 4 3 ® 3l stfiew
g-amﬁmﬁm%mwmaﬁmm
(a) 8

(b) 446

© 86

d 16
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85. Consider the following in respect of the
2 2
: y
uation 4 =2
s 24-k k16
il The equation represents an ellipse if
k=19
2. The equation represents a hyperbola if
k=12
3. The equation represents a circle if
k = 20.
How many of the statements given above are
-correct ?
(a) Only one
(b) Only two
(c)  All three
(d) None
86. Consider the following stateme%@m respect
2
of hyperbola D & -
cos? 0 s@
T
1. The two foci a@dependent of 0.
2. The eccentricity is sec 8.
3. The distancé between the two foci is
2 units.
How many of the statements given above are
correct ?
(a) Only one
(b) Only two
(¢) All three
(d) None
DFTK-S-MTH

87.

88.

(29-A)

Consider the following in respect of the circle

4x2 + 4y® — 4ax —4ay +a% =0:

1.  The circle touches both the axes.

2.  The diameter of the circle is 2a.

3. The centre of the circle lies on the line
X+y=a.

How many of the statements given above are

correct ?

(a) Only one

(b) Only two

(¢) All three

(d) None

For what wvalues of k is the Iline

(k-3)x (B k%) y + k%2 — Tk + 6 = 0 parallel
tothelinex+y=17?

(2 N—4, 1
(h)-1,2
%) 1,-2
@ 2-2

The line x + y = 4 cuts the line joining P(-1, 1)
and Q(5, 7) at R. What is PR : RQ equal to ?
@) Al

(b) a2

(c) =2l

(d)i s

What is the sum of the intercepts of the line
whose perpendicular distance from origin is
4 units and the angle which the normal makes
with positive direction of x-axis is 15° ?

(a) 8

b) 46
(¢} =8 JE
@ 16

Download all NOTES and PAPERS at StudentSuvidha.com


http://studentsuvidha.com/
http://studentsuvidha.com/

91. aRwoi +3] -2k maRwi +2] +3k ¥

T 6 TS =R 2

(a)

(b)

A A A A A A
94. WEW 60i +3j, 40i —8j 3N Bi — 52

Hw g Al

(a)
(b)
(e)
(d)

B =20
B =40
B=—40
B =26

(c)

(d)

e gl g -

=
92, (2 xb2+(3 b )2 =144k

._>
| b | =4, |a | & 9E =R 2

(a)

(b)

(c)

(d)

93. IR wRwi & o b F FwH B o W
TR 2 B 3. b 0, Prfefea o @

3
4
5 &
§>
6 \QQ).
&Q
»

95.

afesi 2 =0,1, )3 D =(1,0,1) % Gef A
fFr=fefaa ot famm Hifso,

1. WO AW e, ot b 2Ht W v
* T HaA UH ¢ |

9. 39 giewl & ff" =1 Fu 1;- 2

IuiE Ho 8 @ SRR T A 2

Fad 1

*Had 2

1 3K 2 1
T 1, T8 2

(a)
(b)
(e)
(d)

& W@ L2 ok G oquma <3,-2,6> 8
AR IE (1,-1, 1) F B (A 8 | LR A
fagatt & fadwies @ &, Rt (1, -1, DA @

DFTK-S-MTH

HH-H1 TH A B 2
(a)

(b)
(¢ 0<06<

(d)

(30-A)

(230
iy E, ;
@_HE
[ SN (el
[ﬁgg
TR Bl
@_HE
B (15 |

-4

K

¥ R

0

e T e

== g

=3 =
~1|ce
~3|en

N’

=

-

S|w 9w 2w
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91. What is the length of projection of the vector | 94-
A A A A
i +23 + 3k on the vector 21 +33 -2k ?
1
(@) —=
V17
2
(b) —
J17
3
() —=
V17 95.
2
d =
J14
92. If(a xb)2+(a .b)2=144and | D | =4,
then what is the value of | 2 | ?
(a) 3
(b) 4
e} B §S\\6®
S}
@ 6 \Q(b'
$Q
$
96.
- it
93. 1If 0 is the angle between wvectors a and b
such that a . E) 2 0, then which one of the
following is correct ?
(a) 0<6<n=n
b Z<os<
2 T
0<o< =~
(c) 2
d 0<6< =
DFTK-S-MTH (31-A)

The vectors 60‘1N +3j‘, 40"1\ —83 and
Bi —52] are collinear if:

(a)
(b)
(e)
(d)

B =20
B =40
B=—40
B=26

Consider the following in respect of the vectors
-3
a =(0,1,1)and b =0, 1):

1. The number “ of wunit vectors
_)
perpendigularto both 2 and b is only
one.

2. . The angle between the vectors is % y

Which. of the statements given above is/are

correct ?

(a) 1only

(b) 2only

(¢) Both1and2
(d) Neither 1 nor 2

If L
<3,-2, 6> and passing through (1,-1, 1),

is the line with direction ratios

then what are the coordinates of the points on
L whose distance from (1, — 1, 1) is 2 units ?

11 138 19 I B
(a) (‘7’?7) &l [W’?]

© (21180 (- 125
7 ¢ ot Rl |
13 11 19 i b

© (P77 me(-7-77)
7 77 T WRE
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97. Y@ XEZ » Y4-3 - 2;4 ¥ iR A
U THAA @ ?
(a) 2x+2y+z-1=0
(b) 2x-y-2z+5=0
(¢) 2x+2y-2z+1=0
(d =x-2y+z-1=0
98. 1@iefl 2x =8y =-2z3Mbx=—y=—4z % &=
1 IV T 8 2
(a) 0°
(b) 30°
(c) 60°
d 90°
99. TH TG W TR # B S M
x2+y2+z2—2x—6y—82—5=0§§\¥iﬁ%
aﬂtﬁ%@ﬁg%@aﬂw&%
(a) x2+y2+z2—2x—
) ey*4g?- Qy=0
(© x2+y2+22-6y—8z20
d x2+y2+7° -2 6y=8z=0
100. fgafi AL, 2, 8) 3R B(2, 10, 1) 1 S ATeA!
@ W U fag PR | AR P oA 7R, @
3q% 319 2 fEuieRl 1 FnThe T R 2
(a) -15
(b) -13
(¢0 -11
@ -9
DFTK-S-MTH

101.

102.

103,

104.

(3Z~A)

10 3 20 § & n HEF3 % faued & Ha
AN p 3 q & | IR (p - @)% = 10000, A n T
oE # 8 ?

(a) 10
(b)
(c)

(d)

20
50
100

a2 10 Y& x,, xy, ..., Xq0 T WA X =20 ¥

10
ar (3xi"4laa‘rm=rw%?

5

(a 0
(b)
()
(d)

12
112
1012

Ife 10 Heguii &1 wreq 3R A H ATHA HAW:
40 3T 16160 2, @ A faae =T R 2

(a) 16
(b) 6
()i B
d 4

= urEl @t HeET ST 8 | UET ANTRS M H
1 Ifrehar & S U Ui & 8@ ?

17

108

i 5
108

19
108

28
108

(a)

(b)

(c)

(d)

Download all NOTES and PAPERS at StudentSuvidha.com


http://studentsuvidha.com/
http://studentsuvidha.com/

97.

98.

100.

DFTK-S-MTH

Which one of the planes i is parallel to the line
x-2 C¥y= 3 z—4
3 4 5

?

(a) 2x+2y+z-1=0

(b) 2x-y-2z+5=0

() 2x+2y-2z+1=0

d x-2y+z-1=0

What lines

2x=3y=-zand bx=—y=-4z7?

is the angle between the

@ - 0°

(b) 30°
(e} 60°

(d) 90°

the

concentric

What is equation of the
sphere with  the

x2 +y2 +22 - 2x - 6y — 8z—5@§1dwhlch
passes through the origin ? &2)

(@) x2+y2+22 —2x-&9—0

() x2+y2 +22 ~@—6y 0

x2+y2+22—6y—82=0

sphere

(c)

(d) x2+y2+z2*2x—6y-8z=0

A point P lies on the line joining A(1, 2, 3) and
B(2, 10, 1). If z-coordinate of P is 7, what is the

sum of other two coordinates ?
(a) -15
(b) -13

© =11

d -9

(33—

101.

102.

103.

104.

A)

The sum of deviations of n numbers from
10 and 20 are p and q respectively. If
(p - @)? = 10000, then what is the value of n ?

(a) 10
(b) 20
(e) 50
(d) 100
If X = 20 is the mean of 10 observations
Xy, X9, .., Xj0: then what is the value of
10
(33;‘ = 4}

i 2
M=
i=1
(a) O
(b) 12
(eI N2
td)n1012

If the mean and the sum of squares of
10 observations are 40 and 16160 respectively,
then what is the standard deviation ?

(a) 16
(b) 6
() 5
d 4

Three dice are thrown. What is the probability
of getting a sum which is a perfect square ?

17
108
5
108
19
108

23
108

(a)

(b)

(c)

(d)
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105. A, B, C 3R D W& Hyasi 31 f:3w geand

1%.

1017.

DFTK-S-MTH

g | R 2PA) = 3P(B) = 4P(C) = 5P(D), al
77P(A) foras sTet R 2

(a) 12
b 15
(0 20
(d) 30
18 9% # wemsii § | 3 i yaqel dweamd
agfessd &9 4 oft St & | F Wil @ fs
I TUHHA § 3 TIH H 18 2

1
(a) E

1
b = X
@ = \\Q

18 §2§
@ e &

36 $Q

$

T U™ Heh W4 B | 35 I w991 Wiehdr @
6 37 W o1 el gems %1 st 2 A 38 2

)
. 5

o
18

5.
18

(b)

(c)

11

o R
()36

108.

lost

110.

(34-A)

&A1, 2, 3, ..., 10 T #eA ¥4 & Reht
SRERATE AW: 9y, 9C,, 9Cy, ..., 9C, & 2

(a) 11x28
b 12x7*
() 655

(d 055

s =afh & et dmrdi | @ 89 1 s
0-8% | 39 &Td hl/aa Mifwar & 5 5 safeeat o
¥ wdis 2 =3fvh 3o & @ S & 9 2

(a) 0-00512

(b}, "0-02048
() 0-2048

(d) 00512

A ST T ¢ 34 §Y HaH F EEA S HHIEH
2, 9 fesme gl & an 7 & | feon &
ANgel BN R FwEE 10% & | AR e
YU B A WA & @8 o GWET 95% B,
YT I§ WU 45% B | A W @@ S g,
al @1 wiReRar @ 5 Y gl @l & wwor
B E?

(a) 010
(b) 019
(© 045

(d 095
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105. A, B, C and D are mutually exclusive and|108. What is the mean of the numbers 1, 2, 3, ..., 10

exhaustive events. with frequencies °C,, °C,, ey e
If 2P(A) = 3P(B) = 4P(C) = 5P(D), respectively ?

then what is 77P(A) equal to ? (a) 1-1x28

(a) 12 (b 12x74

(b) 15 () 55

© 20 (d) 0-55

d 30 109. The probability that a\person recovers from a

disease is 0-8. What is the probability that

exactly 2 persons out of 5 will recover from the
106. Two distinct natural numbers from 1 to 9 are

disease ?
picked at random. What is the probability that
)\, 0:00512
their product has 1 in its unit place ? o
1 (b). ~0-02048
(8} a
(€©) 02048
e S
(b) = g\\ (d 0-0512
1 S
(c) 18 'Q\Q(b. 110. Suppose that there is a chance for a newly
1 @ constructed building to collapse, whether the
e e
i 36 design is faulty or not. The chance that the

design is faulty is 10%. The chance that the

building collapses is 95% if the desi i
107. Two dice are thrown. What is the probability i ona— e design is

faulty, otherwise it is 45%. If it is seen that
that difference of numbers on them is 2 or 3 ? . o et ! ~

the building has collapsed, then what is the

7
(@) 36 probability that it is due to faulty design ?
m @ 010
18
b) 019
© 2 &
18 () 045
@ 1 d 095
36
DFTK-S-MTH (35-A)
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111, 7R x 3 y ¥ 9 @@y e - 2, @118, AR = s 1°c,, °c;, 3R °C, W
: Y L 270
(3x + 4) 3N (- 3y + 3) % o HEH=Y UM F1 B el HE, @ 2 HIAH 18 2
27

(a) 1
. 14
(@ -r 7 R i
) 17
(b)y r 17
(c) —
® 9
(c) J3r 1
d —
31
(@ —+3r

114. U F&1 § n 9@ & (ol om P 3R Q ¥t wfia
| afz fF agfess w9 @ fuifa & = &, @

1 WfEar 2 P 3R Q Uk 1Y 93 ?
(a) -1—
n
2
sAfa faws # %%IW B
\ 6 W
112. TH 3?91@\\ | B
c —
mﬁwm%f@iwqum -
G
qaéqﬁ'am?ﬁﬁsr@qﬁmn‘r%ﬁaﬁ? 2n
(a) {% 115. U 592 &4 § B(n, p), n = 6 3R
1 9P(X = 4) = P(X = 2). p fohereh SR R 2
® = ot
1 s
() —
32 1
®
1
= .
64 {0 e
(e) 2
4
@
DFTK-S-MTH (36-A)
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111.

112.

DFTK-S-MTH

If r is the coefficient of correlation between x
and y, then what is the correlation coefficient

between (3x + 4) and (- 3y + 3) ?

(a)

-Tr
By ' r

() 3r

d -+3r

A fair coin is tossed 6 times. What is the
probability of getting a result %&6“‘ toss

&

which is different from ¢t obtained in the

QQ
first five tosses ? @
(a)
(b)

(c)

(d)

(o=

113. If H is the Harmonic Mean of three numbers

114.

115.

A)

e 90, ina 10C,, then what is the value
270

of — ?
H
(a) 1
14
(b —
: 17
17
(c) ﬁ
1
d B
(d) 31

In a class, there are n students including the
students P and Q. What is the probability that

P.and Qsit together if seats are assigned

randomly ?
T
n
B
n
-
n
1
@ 2l
) 2n

In a Binomial distribution B(n, p), n = 6 and
9P(X = 4) = P(X = 2). What is p equal to ?

(a)

(b)

(c)

(d)

Db B0 MO e
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ST 3T AT T (05) TV & o0 AT W (16 o wiftear 2 f @ ot @ arefeat whaAy |
ﬁwaﬁﬁm: 43 2
& @e=i P, Q R 3 & wefmdl S, T, Ut & (a) %
afes w2l & fo dfteag faman s 2
M
5
(0) %
116. =1 Tifemar & & diH1 os% s @1y 93 2
1
a @
LB
(b) % 119, &1 Wi 2 et Q gFi Bt W a3 2
1 < .3
(e) § (a) 15
»
(d) Tlé— (b) T
S\\6® (c) L
§2§ 15
117.@1;@%1%%33%%% i Uspiat ®9 @) _};_é
N
qad?
4 120. F1 TiRrhaT & fF Q 3t UM ws a9 &4 2
(a) -
5
(a) %
1
B 1
® 7
(e) —5-
3 5
(C} E
@ =
& 1
@ 3
DFTK-S-MTH (38-A)
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Consider the following for the next five (05)|118. What is the probability that no two girls sit

items that follow : together ?
(a) &
Three boys P, Q, R and three girls S, T, U are to be 5
arranged in a row for a group photograph. (b) 3
b
1
et
(c 18
116. What is the probability that all three boys sit 1
d =
together ? 5
1
(a) 3 119. What is the probability that P and Q take the
two end positions ?
1
(b) =
4 (@) 1
a —
1 15
(c) *3-
b) %
@ ik \\@
12 % 14
Q) (e) e
s :
Q
&Q\ @ =oae
S i

117. What is the probability that boys and girls sit
120. What is the probability that Q and U sit

alternatively ?
together ?
4
(a) o 2
5 Tk
(a) 3
1
(b) — 1
10 b o
(b) 1 :
5
(e) = 5
6 =
(c) 5
1
@ =
7 @y =
DFTK-S-MTH (39-A)
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SPACE FOR ROUGH WORK

DFTK-S-MTH (41-A)

Download all NOTES and PAPERS at StudentSuvidha.com


http://studentsuvidha.com/
http://studentsuvidha.com/

e W & foeTu og
SPACE FOR ROUGH WORK
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SPACE FOR ROUGH WORK
S
S\
N
S
$
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DO NOT OPEN THIS TEST BOOKLET UNTIL YOU ARE TOLD TO DO SO

T.B.C. : DFTK-S-MTH Test Booklet Series

2'

4|

Time Allowed : Two Hours and Thirty Minutes

TEST BOOKLET
MATHEMATICS

d Th SRR . SR Marks : 300

INSTRUCTIONS

IMMEDIATELY AFTER THE COMMENCEMENT OF THE EXAMINATION, YOU SHQULD CHECK THAT
THIS TEST BOOKLET DOES NOT HAVE ANY UNPRINTED OR TORN OR MISSING PAGES OR ITEMS,
ETC. IF SO, GET IT REPLACED BY A COMPLETE TEST BOOKLET.

Please note that it is the candidate’s responsibility to encode and fill in'the Roll Number and Test
Booklet Series Code A, B, C or D carefully and without any omission or discrepancy at the
appropriate places in the OMR Answer Sheet. Any omission/discrepancy will render the Answer
Sheet liable for rejection.

You have to enter your Roll Number on the

Test Booklet in the Box provided alongside.

DO NOT write anything else on the Test Booklet.
This Test Booklet contains 120 items (questions), Bach item is printed both in Hindi and English.
Each item comprises four responsee@nswers). You will select the response which you want to mark

on the Answer Sheet. In case el that there is more than one correct response, mark the
response which you consider tg t. In any'case, choose ONLY ONE response for each item.

You have to mark all your r ses ONLY-on the separate Answer Sheet provided. See directions
in the Answer Sheet.

: O

All items carry equal @

Before you proceed ¢ rk in the Answer Sheet the response to various items in the Test Booklet,

you have to fill in e particulars-in the Answer Sheet as per instructions sent to you with your

Admission Certificate.

After you have completed filling in all your responses on the Answer Sheet and the examination has

concluded, you should hand-over to the Invigilator only the Answer Sheet. You are permitted to

take away with you the Test Booklet.

Sheets for rough work are appended in the Test Booklet at the end.

Penalty for wrong answers :

THERE WILL BE PENALTY FOR WRONG ANSWERS MARKED BY A CANDIDATE IN THE

OBJECTIVE TYPE QUESTION PAPERS.

(1) There are four alternatives for the answer to every question. For each question for which a wrong answer
has ‘t{fyen given by the candidate, one-third of the marks assigned to that question will be de ucted as
penalty.

(ii) Ifa candidate gives more than one answer, it will be treated as a wrong answer even if one of the given
answers happens to be correct and there will be same penalty as above to that question.

(iii) If a question is left blank, i.e., no answer is given by the candidate, there will be no penalty for that
question.

DO NOT OPEN THIS TEST BOOKLET UNTIL YOU ARE TOLD TO DO SO
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